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Question 1
Question Type: MultipleChoice

What is the major difference between the two possible Cisco lM and Presence high-availability modes?

Options: 
A) Balanced mode provides user load balancing and user failover in the event of an outage. Active/standby mode provides an always on

standbynode in the event of an outage, and it also provides load balancing.

B) Balanced mode provides user load balancing and user failover only for manually generated failovers. Active/standby mode provides

anunconfigured standby node in the event of an outage, but it does not provide load balancing.

C) Balanced mode provides user load balancing and user failover in the event of an outage. Active/standby mode provides an always on

standbynode in the event of an outage, but it does not provide load balancing.

D) Balanced mode does not provide user load balancing, but it provides user failover in the event of an outage. Active/standby mode

provides analways on standby node in the event of an outage, but it does not provide load balancing.

Answer: 
C

Explanation: 



Balanced mode provides user load balancing and user failover in the event of an outage. Active/standby mode provides an always on

standby node in the event of an outage, but it does not provide load balancing.

Here is a more detailed explanation of the two modes:

Balanced mode:In balanced mode, the IM and Presence Service nodes are configured to work together to provide high availability. The

nodes are configured in a redundancy group, and the system automatically balances the load of users across the nodes in the group. If

one of the nodes fails, the system automatically fails over the users to the other nodes in the group.

Active/standby mode:In active/standby mode, one of the IM and Presence Service nodes is designated as the active node, and the other

nodes are designated as standby nodes. The active node handles all of the user traffic, and the standby nodes are only used if the

active node fails. If the active node fails, the system automatically fails over to one of the standby nodes.

Question 2
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. An engineer configures a VoIP dial peer on a Cisco gateway. Which codec is used?



Options: 
A) G711alaw

B) No codec is used (missing codec command)

C) G.711ulaw

D) G729r8

Answer: 
D

Question 3
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown



An administrator is attempting to register a SIP phone to a Cisco UCM but the registration is failing. The IP address of the SIP Phone is

10.117.34.222 and the IP address of the Cisco UCM is 10.0.101.10. Pings from the SIP phone to the Cisco UCM are successful. What is

the cause of this issue and how should it be resolved?

Options: 
A) An NTP mismatch is preventing the connection of the TCP session between the SIP phone and the Cisco UCM. The SIP phone and

Cisco UCM must be set with identical NTP sources.

B) The certificates on the SIP phone are not trusted by the Cisco UCM. The SIP phone must generate new certificates.

C) DNS lookup for the Cisco UCM FQDN is failing. The SIP phone must be reconfigured with the proper DNS server.

D) An network device is blocking TCP port 5060 from the SIP phone to the Cisco UCM. This device must be reconfigured to allow traffic

from the IP phone.

Answer: 
D

Question 4
Question Type: MultipleChoice



Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. A collaboration engineer adds an analog gateway to a Cisco UCM cluster. The engineer chooses MGCP over SCCP

as the gateway protocol. Which two actions ensure that the gateway registers? (Choose two.)

Options: 
A) Enter 'no seep' on the gateway in configuration mode.

B) Enter 'ccm-manager mgcp' on the gateway in configuration mode.

C) Enter 'mgcp' on the gateway in configuration mode.

D) Enter 'ccm-manager config' on the gateway in configuration mode.

E) Delete and re-add the gateway configuration in Cisco UCM.

Answer: 
B, C

Question 5



Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. What is the result of applying these two rules to a voice translation profile for use with an ISDN T1 PRI on a Cisco

Voice Gateway?

Options: 
A) The leading Plus is stripped from the numeric phone number.

B) The ISDN Plan is modified to the administrator's defined value.

C) Any zero is stripped from the numeric phone number.

D) The ISDN Type is modified to the administrator's defined value.

Answer: 
D



Question 6
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. Calls to Cisco Unity Connection are failing across Cisco Unified Border Element when callers try to select a menu

prompt Why is this happening and how is it fixed?

Options: 
A) Cisco Unity Connection is configured on G.729 only. Cisco Unity Connection must be reconfigured to support iLBC.

B) Cisco Unified Border Element is not sending any support for DTMF. OTMF configuration must be added to the appropriate dial peer.

C) Cisco Unified Border Element is sending the incorrect media IP address. The IP address of the loopback interface must be advertised

in the SDP

D) The Cisco Unity Connection Call Handler is configured for a 'Release to Switch' transfer type Transfers must be disabled for the Cisco

Unity Connection Call Handler

Answer: 



B

Question 7
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown
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Refer to the exhibit. Endpoint A calls endpoint B. What is the only audio codec that is used for the call?

Options: 
A) G722/8000

B) Telephone-event/8000

C) G7221/16000



D) PCMA/8000

Answer: 
C

Question 8
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. A customer submits this debug output, captured on a Cisco IOS router. Assuming that an MGCP gateway is

configured with an ISDN BRI interface, which BRI changes resolve the issue?

A.

Image not found or type unknown

B.



Image not found or type unknown

C.

Image not found or type unknown

D.

Image not found or type unknown

Options: 
A) Option A

B) Option B

C) Option C

D) Option D

Answer: 
C



Question 9
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Image not found or type unknown

Refer to the exhibit. A collaboration engineer configures Cisco UCM to act as a DHCP server. What must be done next to configure the

DHCP server?

Options: 
A) Restart the Cisco DHCP Monitor Service under Cisco Unified Serviceability

B) Add the new DHCP server to the primary DNS server

C) Restart the TFTP service under Cisco Unified Serviceability.



D) Add a DHCP subnet to the DHCP server under Cisco UCM Administration.

Answer: 
D

Question 10
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

Refer to the exhibit. When a UC Administrator is troubleshooting DTMF negotiated by this SIP INVITE, which two messages are

examined next to further troubleshoot the issue? (Choose two.)

Options: 
A) REGISTER



B) SUBSCRIBE

C) PRACK

D) NOTIFY

E) UPDATE

Answer: 
B, D
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